College Algebra — Joysheet 1 Name: S-"F"‘V( O“"e""‘/"
MAT 140, Spring 2021 — D. Ivansié Covers: JIT 6, 7, 12-14, 17 Show all
your work!

Write interval notation and sketeh on the number line.
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Solve the equations.

3. (3pts) 2z —-6=5z+9 |-Jx 4. (dpts) 1-2(3z—1) —z = 4(x —3)
..-'3:,('._@,::? ['LG {‘é?f‘FZ'x = ‘q’,{"-ll
Sa=is HEH) 2-9x = $«—12 Ik
. 9 = |- IL ]HL
g = Il
1S
Simplify and write in standard form: W= T]_
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Simplify and write the answer so all exponents are positive:
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Factor the following.
12. (4pts) 22+ Tz +12= 13. (dpts) z* -9z -36= ()(- l?,/(ﬁ '5)
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Solve the equations.
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